syp.erLS H.s~ SLICING No 4

o

o The base of a solid is a square of side length 6cm. Find the volume of
"\ the solid if each cross section perpendicular to the diagonal of the square

I ¥ |
| \AJ a square | >
; J) a semi circle s,
! ¢) a right angled isosceles triangle, hypotenuse on the base.

gy an equilateral triangle
7
.27 Find the volume of a square pyramid, base a units and height h units.

37 Find the volume of an elliptical pyramid, base the ellipse with axes of

W

N length 2a and 2b and height h.
&

4. A solid has a square base and a height H
Cross sections of the solid parallel t© the base ata

height h are squares of side s (h). Find the volume

of the solid in terms of H, given that:

e 1
L - T 1
A =7 (o)) =17

\ ﬁ"&h) =Jh+1 Ldy gh=¢"
ANSWERS: 1814442, 18427, 03642, d)36/6
ah ,, mabh

1
AN 0 da)in(H+1),b) 1 - ,
)3,>3,a)n( JAOR R TIN]

®

c)ﬂ;—+ H, d)%(e2H -1

An Important Method

Finding lengths from the given diagram is of particular interest in calculating the

required volume. An eleg:{nt method is presented below and you will be asked 10

derive the same result by using similar triangles.

Example: (1) | .
Find the length y in terms of h, from i B
the diagram which shows an isosceles h—
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Slicing the pyramid parallel 10 its

base gives square slices of side x and

width dy, where y is the height of
the slice above the base. E, C are
midpoints of the sides of the base

and slice respectively.
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